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13.6.1

53b (8 m1wp) 2 54a (D593 N2 DYY)

Note: & mwnand 2are presented together; we will only present 2 7ywp when it is analyzed in the X103
Note: the mywp presents two “attitude-modes”, A vs. 7r; there is third (ideal) mode assumed - 11¥p5
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I.  ® mwn: Extent of valid nx»a for nna» p
a.  Whether: Tm/anw, pny7/onR, even if one is o1R/ANY or only one is DIX;
i.  Explanation of wording “1520X”: the mwn is presenting the more obvious first
1.  More obvious: if he is mw (or even T1n) and she intends the mxn
2. But even: if neither intends the mxn and one is mw and the other 7 — still valid
ii.  Clarification: what is the circumstance of 1R in our nwn
1.  Cannot be: that others forced him on her
(a) Per:®17's dictum — there is no claim of o1 (for a man), since »wp is perforce intentional
2. Proposal: must be a case where he was asleep
(a) Block: "1 21 ruled that a sleeping man’s nx’a is not nna’a MNP
3. Proposal: it may be the case of ypm
(a) Block: nan ruled that in such a case, in spite of full liability for damages, no nnaa Pap
4. Rather: he intended to have nx»a with his wife and the nna> grabbed him...
iii. 471 *7's version: includes “both v, both v or both DoKX’
1.  What is the conceivab le circumstance: of IR DN7WY (RN '7's addendum)?
(a) Must be (based on earlier analysis): where he intended to have nx»a with his wife
(i) And: others forced her on him
b.  Whether: merely nk1yn (defined in next myw) or 1 — all are valid
c.  And: there is no distinction between nmx»a
II.  Source for this broad range of valid mx»
a. vl Yy R N1 — understood to be a mxn
i.  Additionally: X2 implies whether n¥7 ,onR ,7m Mv
1. Challenge: the word was already “used” to teach that it is a mxn
2. Answer: that is inferred from v. 2; implying that if he wants to marry, the mxn is mya»
b. Alternate 817712 (interpreting v1): R2> = N3773; NP = even N1 RHYW; DI > only NR»a completes the 11p
i. A2 (the extra 777): even NN YY1
ii. Additionally: X2 implies whether n¥7 ,onR ,7m MY
1. Challenge: the word was already “used” to teach n2773 nx»a
2. Answer: that is inferred from v. 2 — Dw YR D’pPnY — a N1 that could “revive the name” (n3772)
III. Reassessing two prior statements
a. 7amiv a7 if he is asleep while having n&’a, that is not nnaa nnp, per 1YY R NP2 — must have intent for nxa
i.  Challenge: whether asleep or awake, it is valid
ii. Answer: that refers to the nna’, not the o1’
1. Challenge: Xn»712 explicates — whether he OR she is awake or asleep — it is valid
2. Answer: that is if he or she is dozing — D1nnn; not fully asleep
b. /727 if he fell off the roof and was ypni into his nn, he has the usual liability for battery, but not n1p the nna
i.  Note: he does not owe nwia (alone among the 5 payments), as that requires intent to damage/embarrass
ii. ~27 if he intended to “push himself” into a wall and “missed” into the nna> —no pp
1. However: if he intended to “push himself” into an animal and “missed” into the nn1 — valid 1p
2. Reason: his intent (in the 2nd case) was for an act of N1 whatsoever
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